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# free space simulation 2007.01.25 yamamoto@akita-nct.jp

# - grobal parameters -—--———-—————————————————————-----
MeV = 1.0e+6;

nC = 1.0e-9 ;

ps = 1.0e-12; ns = 1.0e-9 ;

mm = 1.0e-3;

# - electron beam -------————————---————————————————————
N= 100000;

charge = -1*nC;

PulseWidth = 3*mm;

R = 0.5%mm;

EO = 0.5%MeV;

dE=0.0;

G=1-qe*E0/ (me*c*c) ;
dG=-qe*dE/ (me*c*c) ;

setparticles("beam", N, me, ge, charge);

setzdist("beam", "u", 0, PulseWidth);

setrxydist ("beam","u", R/2, R);

setphidist("beam","u", 0, 2*pi);

setGdist ("beam","u", G, dG);

# simulation start -----—-—-—""—-———————————————————

spacecharge3Dmesh ("BoundaryOpen") ;

tout (O*ns,4*ns,0.02+*ns) ;
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